Summation 1

14 January 2024 11:31

Swapping order of Summation:

Let
$$f(a,b)$$
 be a function. Then

 $\sum \sum_{A \in A} f = \sum_{B \in B} \sum_{A \in A} f$

Let us try to factorize,

$$\sum_{a \in A} \left(\sum_{b \in B} a^{2}(b+1) \right)$$

$$= \sum_{a \in A} a^{2}\left(\sum_{b \in B} (b+1) \right)$$

$$= \left(\sum_{b \in B} (b+1) \right) \left(\sum_{a \in A} a^{2} \right)$$

O> Evaluate the sum,

$$\geq \left(\frac{7x+32}{x(x+2)}\left(\frac{3}{4}\right)^{N}\right)$$

$$\frac{7n+32}{n(n+2)} = \frac{16n+32-9n}{n(n+2)} = \frac{16(n+2)}{n(n+2)} - \frac{9n}{n(n+2)}$$
$$= \frac{16}{n} - \frac{9}{n+2}$$

$$\frac{1}{2} \left(\frac{16}{10} - \frac{9}{10} + \frac{1}{2} \right) \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{16}{10} \left(\frac{3}{10} \right)^{N} - \frac{9}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{16}{10} \left(\frac{3}{10} \right)^{N} - \frac{9}{10} \left(\frac{16}{10} \left(\frac{3}{10} \right)^{N} \right) \right) \\
= \frac{1}{10} \left(\frac{3}{10} \left(\frac{3}{10} \right)^{N} - \frac{16}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} \right) \\
= \frac{1}{10} \left(\frac{3}{10} \right)^{1} + \frac{1}{10} \left(\frac{3}{10} \right)^{N} + \frac{1}{10} \left(\frac{3}{10} \right)^{N}$$

Howellort + 452 + 4 + 162 + 16 + 452 + --- 00 terms. Evaluate

B) Let
$$A = 666 \cdot ... 666$$
 and $B = \frac{999 \cdot ... 999}{2016 \text{ times}}$. Let $N = A \times B$
 $P = 100 \text{ the sum of digits of } N$.